1.

1-4x

..._“_..u
K0

(4x% — x) + (=x)







—2(2x-y)

x—6y-[ ]

B
]

x—6y+2(2x—y)
x—6y+4x -2y
5x — 8y




2%+ 2y = x+ 5y T, 3—’;94 e Fatofal,

[
H =

>
[> o= 1

oH =

B

2x + 2y = x+ 5y
x =3y

ox 3y

. 3_y:3_y:




—2x+5
<
3
Zt o -5 & Boli -8 < —2x < 7 0] H

-1

kv

1,0, 1,2 3, 4°Jth

<4 °]A ZF ol 3 & HHH -3 < —2x+5 <12,

W 35 <x <47} Aek. W] 3k B4 -3, —2, -




.

B
fite)
Ho

T
<t

— <

— |

o<t

8x—3>2x-1,

8x—2x> -1+ 3,

6x > 2

'Jc>1
; 3




e

Q| ot

4-3ax+8=>-3

I

5
a

4-3ax+8>-3
—3ax > —15




FOHE AUl MH|AE o] gate 1 gt gF 2ol 7000 Y-S HH 12
AlZro] o)1, 1 oA 1 A7t 400 €o] 271 @ 32 Ulof §iet
A a50] 20000 Y olst7t E A st g Dol Hf E A7
o] &3t 4= Q=] FoHH? (T, 1AIZF 9] o] g3fjof St}

@O 38A]7F @ 40A7F B 42A)17+

230 AZHE x Aol s 23hE AIZEE 371 852 400x

4 ot
7000 + 400x < 20000
130
<2 _325
Y=y

7000 99 12 AIZF = 71 @7 32 AZHE HSiA] H ol 44
A7t o] 8& 4= Qi




30 % o)) TA) WAL ¢ AR 4000 9 S PR 30% &
2qs) F£ SEwo] Yrk. F Y ool 30 B B 14U
A ol §217717

0% @27 @)2rd @uny ©2u73

S8 \
x o] YA ofH P ==

4000 x x = 4000x () °]t}.

T 30 Yo & sto] TAR ot =
4000 x 0.7 x 30 = 84000 () o]t}

uhEpA] F5A1S Al 4000x > 84000, x > 21

JeBg 22 7 ol dold @A 2 gt Ao] fest

rr




10. A (502 = 3x +4) 4 (2x% + x - 1) & 7FH3] 39

® 2x2-5x+6 @ 5x2-2x+5 ® 5x%2-4x+2
@7x2—2x+3 ® 7Tx*-3x+6

B

(5x2 =3x+4) + (2x2 +x - 1)

=5x2-3x+4+2x2+x-1
=T7x2-2x+3




